Jelmagyarazat

Tervezett:

8fpm h. acél kandelaber V1T-10/%6 Lkarral
6fpm h. acél kandelaber lampakar nélkiil
TWEET S X1 CIT 40/44W LED Ltest

S
N
3 mo_
= 8 g LI
2m rww
Q
X ,/LI m
% R e
a g s |25«
- S N B
> -5 SEMEN
a FE 2SS
3 IR sl
3 ASEEEN 1SS
: 3 3
W,m x H
il ,:H:a
o > ,mﬁm_
e §s
22 EEE
=L [ g
3|\
&l =
313 [ .
W -5 3
3 Ao
< 0] s |
= 8] 5] 5
,,/ N \\\ -
_— _— // \\\
- - \\\ // \\\
J —_— L — —_
! Bojn safbbayy
@
o $9p
[ P e e © €9Jn sefbbayy
_ \\%\ i — —_—— — — N llll — T s ——— _
\W\\ —— - m I —_— i, et T T T e ——
\ & S NS e LT T T
— | _ ! — ~ T ‘ B T —
€029 %nw_.m o~ PP — o~ — 2 - = —
1999 | Ll A — N T ———— l,ll -
ql | 2599 “ = = =
ok B | _
N
| 9599 2099 | 099 My | |
, _ | |
f
B - N
- *| [ 8 |
| —— 1| ° |
—_— s | ®
_ 2999 —————— = 5 i |
2029 g 5| _
_ £699 2 8099
| | S D L
| R
| NT\ - g £099 _
o
| TII o ! 3 |
R ~ T T T T T ke IRy Epp — _
| ~ — T i
§999 o | | S I Ik'
ﬁ 1029 1699 d1 8 | ’ T
§ ©
H L
| H f SEf 099 _
& 2 |
| ———— | 8 SE |
_ 6499 Sk | | ' N
_ I 7 €199 &
T b i i - - - -
- o - . _1F
7 Mﬂau o II_
) H o A,
_ 0049 r ~ |
f —— —— #199 |
| 999 i | |
f fl\ o |
B . § - |
41 Aw N 1 . | 199 _
_ © 3 H _ 1
| f £r99 — N | bt ‘
> T~
©
© -
| * - — A}
_ | $ 7 ]
_ 6699 f | 9199 __
- N o | %
| 8 *W - = g oy & _
= T — T —— ——
- AT | — _Im ] N ﬁ LN LA __
_ | f | Q_I _ T ©
| W{ 299 6£99 | 5 99 6199 ! __
| 7 IR -
_ o
2699 7 %,TI - [ - \\1\ |
| i AN | |
1 5 I
# - A‘\H 7 o [ | 7 SIINE
- — [ 2299 RSN
i i . _ i LN .-nm
| 9699 __ | 8299 m _ ! f |
| aa | 2£99 _ =~ f !
M- = _ &
x \T | o | © - =
— — |
5699 f — - —— \l‘ __ N | |
© —_—— — — — — — _.mnu _ i
—_—— == 0899 _ = wi\# - === M |
Q
[ S .
#699 3 BB _ | | o
f | A arien H J: m | 21699 | re99 R I
| 8 1899 _ c899 _ o i _ |
— o 3 $299
_ | | ] A‘V T \L | f
_ l
_ woe /._i 3 1/5€99 | oy ik __ T\I\
| £699 | | €899 e ££99 e |3 |
| & g0 % B ; s
_ < ————— | . T I8 ! N ! 529
| | b : z€99 | ~ S _ ?
i ©
| | _
[ f
7699 'y | 9299
1k f
|3 | —
— \\,\ \,\;\)V‘MI *
- Ty |
_ |5 —_ = R o By
| | v |
_ f = ~
| 1699 | |
| i |
_ _ —— ©
_ f
_




